
Answer on Question #45543, Physics, Other 

 

A transverse wave produced on a spring has a frequency of 190 Hz and travels along the 

length of the spring of 90 m, in 0.5 s. 

(a) What is the period of the wave? 

(b) What is the speed of the wave? 

(c) What is the wavelength of the wave? 

 

Solution: 

Given: 

 𝑓 = 190 Hz, 

 𝐿 = 90 m, 

 𝑡 = 0.5 s, 

 

(a) What is the period of the wave? 

The period is 

𝑇 =
1

𝑓
=

1

190
= 0.0053 s 

 

(b) What is the speed of the wave? 

The speed of the wave  is: 

𝑣 =
distance traveled

time taken
=

𝐿

𝑡
=

90

0.5
= 180 m/s  

 

(c) What is the wavelength of the wave? 

The wavelength is  

𝜆 = 𝑣𝑇 =
𝑣

𝑓
=

180

190
≈ 0.95 m 
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